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IS 1 C=636kN
S 1 C,=100.6 kN

m, =700 kg
m, =450 kg

V=0.75m/s
t,=0.05s

t,=19s
t;=0.15s

a,=15m/s2

a;=5m/s2

I,=1500 mm

I, =650 mm
I, =450 mm
l;=135mm
l,=60 mm

ls=175mm

l¢ =400 mm

t(s)

£ Crojojaa

(mm)
(mm)

P mg mg-l LmeE: L LM
4 21, 21, 4
=25624N
P = meg m1g'13+ mlg'[4+ m,g
*o4 21, 21, 4
=39872N

ZHEZL R M5 A, BSE P la,

_m1'a1'la _mz-a1-l5

Pla, =P,
e 21, 21,
=-1577N
_ mpa;-ly my-a-ls
Pla,= P, + +
21, 21,
=8126.6 N
2St= Pt la,
m-a,-1,
Pt/la, =- 2l -484.6 N

z
=
o
o}
(=
2
=
A
P:m1g+m1g-13_m,g~l4 +m2g =
74 21 21, 4 ol
=3072.6 N
P= mg mg- 1 B mg-1, L mg
4 2 21, 4
=1647.8 N
my-a;-lg m,-a;-l;
Pla,= P,+ +
21, 21,
=7212N
Pla,= P, - ml’z‘zl Ay _m '2‘;1 s
i |
=-2491.6 N
Prja, ="l _yga6n
2/,
m,-a, -1,
Ptja,=- "0 4846 N
21,
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1 1
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1 1
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25 Py,
m.a,.l,
P[lra1 =——=484.6 N
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m-a -l
Ptyra,= - ———=_4846N

1

Pla,= P,- my-ay-lg m,-ay-l;
353 3 211 2]]
=1692.8 N
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=3027.6 N
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343 21[ :
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3had, 3 211 2[1
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PtSralz -———=-484.6 N
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Ptra, =8 484 6N
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21, 2/,
=1182.6N

m.. a,. | m,. a,- 1
1" 73t L P23t S

})Zra3: P2+ 2] 2]
1 1

=5367N
2StE P ra,
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MSA 15 MSB 15 G-M4 M4 x 0.7P G-M4
MSA 20 MSB 20 G-M6 M4 x 0.7P G-M4
MSA 25 MSB 25 G-M6 M4 x 0.7P G-M4
MSA 30 MSB 30 G-M6 M4 x 0.7P G-M4
MSA 35 MSB 35 G-M6 M4 x 0.7P G-M4
MSA 45 G-PT1/8 M4 x 0.7P G-M4
MSA 55 G-PT1/8 M4 x 0.7P G-M4
MSA 65 G-PT1/8 M4 x 0.7P G-M4
Z MSA 9 MSB A|2| =0| AR, 2E8IX| &5 LT
(ﬁ*gi‘?*) e G%%%)
N
U sgua o suus
MSG 21 G-M6 M4 x 0.7P G-M4 - -
MSG 27 G-Mé6 M4 x 0.7P G-M4 6.1 P3
MSG 35 G-Mé6 M4 x 0.7P G-M4 73 P4

[ (VM AVMIAIND HYANIT

MSR 20 G-M4 M4 x 0.7P G-M4 9.2 P6
SMR 25 MSR 25 G-M6 M6 x 0.75P G-M6 10.2 P7
SMR 30 MSR 30 G-M6 M6 x 0.75P G-M6 10.2 P7
SMR 35 MSR 35 G-M6 M6 x 0.75P G-M6 10.2 P7
SMR 45 MSR 45 G-PT1/8 M6 x 0.75P G-M6 10.2 P7
SMR 55 MSR 55 G-PT1/8 M6 x 0.75P G-M6 10.2 P7
SMR 65 MSR 65 G-PT1/8 M6 x 0.75P G-Mé6 10.2 P7
cups | 3% | e
s o e o ow
SME 15 G-M4 M4 x 0.7P G-M4
SME 20 G-M6 M4 x 0.7P G-M4 - -
SME 25 G-Mé6 M4 x 0.7P G-M4 - -
SME 30 G-Mé6 M6 x 0.75P G-Mé 10.2 P7
SME 35 G-Mé6 M6 x 0.75P G-Mé 10.2 P7
SME 45 G-PT1/8 M6 x 0.75P G-Mé6 10.2 P7
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